
�FRPSRVH�NHUDOD�JRY�LQ
HJD]HWWH�NHUDOD�JRY�LQ

SULQWLQJ�NHUDOD�JRY�LQ

*29(510(17�2)�.(5$/$

.(5$/$�*$=(77(

38%/,6+('�%<�$87+25,7<

5HJQ�1R��.(5%,/�����������
GDWHG������������ZLWK�51,

5HJ�1R�./�79�1���������������

9RO��;,,, 1R�
���

7XHVGD\����WK�0DUFK�����

��VW�.XPEKDP����� ��WK�3KDOJXQD�����

3DUW�,,,

+RPRHRSDWK\

�

*29(510(17�2)�.(5$/$

����

7KLV�LV�D�GLJLWDOO\�VLJQHG�*D]HWWH�
$XWKHQWLFLW\�PD\�EH�YHULILHG�WKURXJK�KWWSV���FRPSRVH�NHUDOD�JRY�LQ�



ÂD�+MÔ �PÈ��L�@�+=�P:�$Ã

�����ÉÌÊËËÉÌÊÌÍÇ��Î 3�>�@7�8�>PÆ ÌÊÌÎ +7�@>��ËÑ

@�B=PÔÇ�D�<��=�§3�� @$�§SÇ +�@7s�>oP� ä +�¸�� �<0�sN� �9�CM� 3CS3�$=��?�

���<�C�7��=�>�¯��?�®S�p8C���$>��S���>@S�8�G�§.�@�s��3S�CP:���SÈ

�D�<��=�§3�� @$�§��?� +�¸�� �<0�sN� �9�CM� 3CS3�$=��?� ���<�
C�7��=�>�¯�� ?�®S ËÓÏÒ� �?� �$È�CS Ƭ �CSÈ�CSÈ�M )�zOs�P� 7�=<zOs�P
<�75�zOs�P� �7�C�3<�=�� 3��G�s�=3S� :��§�@>��.� �G�@��?=Ss�=��
��3��.�§P�p8C���$>�s���È

Â�§SÃ

�� .(5$/$�*$=(77( 3DUW�,,,
BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB

7KLV�LV�D�GLJLWDOO\�VLJQHG�*D]HWWH�
$XWKHQWLFLW\�PD\�EH�YHULILHG�WKURXJK�KWWSV���FRPSRVH�NHUDOD�JRY�LQ�



�� � �

ËÈ ÍÎ �0�Èp8�=5MA�7�� @��
�$

Â��� ÎÍÐÑËÑÃ

ÌÓÈÊÎÈËÓÑÌ D���Ç
8�?=É�CSÈ
C�

:�È��SÈ�PÈ�
CSÆ��PÈ0�

CÈ�ÂC�6�Ã� 7PÈ�
ÌÌÏÌÉÌÊËÌÉ��S� Ƭ
�9SÈ0µo�È0�
3�=3� ÊÐÈÊÑÈÌÊËÌ

ÊËÈÊÒÈÌÊËÌ <�L�C�7��=�>�¯��
?�®S

Â��ÍÉÌÑËÐÉÌÊËÒÉ��
��� ���ÍËÈÊÍÈÌÊËÒÃ

ÌÈ ÍÏ �0�È$@�3�
8�>��B��<L Â���
ÏÑÊÍÏÌÃ

ÌÒÈÊÏÈËÓÐÓ D���Ç
�@?LÉ�CSÈ
C�

:�È��SÈ�PÈ�
CSÆ��PÈ0�

CÈ�ÂC�6�Ã� 7PÈ�
ÌÌÏÌÉÌÊËÌÉ��S� Ƭ
�9SÈ0µo�È0�
3�=3� ÊÐÈÊÑÈÌÊËÌ

ÊÑÈÊÑÈÌÊËÌ ÆÆ

ÍÈ ÍÐ �0�ÈC�È�CS�p85�8S

Â��� ÎÌÓÏÐËÃ

ÌÏÈÊÏÈËÓÐÓ D���Ç
8�?=É�CSÈ
C�

:�È��SÈ�PÈ�
CSÆ��PÈ0�

CÈ�ÂC�6�Ã� 7PÈ�
ÌÌÏÌÉÌÊËÌÉ��S� Ƭ
�9SÈ0µo�È0�
3�=3� ÊÐÈÊÑÈÌÊËÌ

ÊÒÈÊÑÈÌÊËÌ ÆÆ

��WK�0DUFK����� .(5$/$�*$=(77( ��
BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB

7KLV�LV�D�GLJLWDOO\�VLJQHG�*D]HWWH�
$XWKHQWLFLW\�PD\�EH�YHULILHG�WKURXJK�KWWSV���FRPSRVH�NHUDOD�JRY�LQ�



ÎÈ ÎÌ �0�È:�+�$�<�M�0�

Â��� ÎÏÏËÑÌÃ

ÍËÈÊÏÈËÓÑË D���Ç
8�2LÉ�CSÈ
C�

:�È��SÈ�PÈ�
CS Â
� ����Ã

CÈ�ÂC�6�Ã� 7PÈ�
ÌÎÏÏÉÌÊËÎÉ��S� Ƭ
�9SÈ0µo�È0�
3�=3� ËÓÈÊÑÈÌÊËÎ

ÌÎÈÊÑÈÌÊËÎ ÆÆ

ÏÈ ÏË �0�È?�7� G�2� Â���
ÏÏÊÍÑÊÃ

ÊÐÈËËÈËÓÑÍ D���Ç
<?=>=LÉ�
CSÈ¯�

:�È��SÈ�PÈ�
CS

CÈ�ÂC�6�Ã� 7PÈ�
ÍÎÑÉÌÊËÐÉ�=�BSÈ�
3�=3� ÌËÈÊÑÈÌÊËÐ

ËËÈÊÒÈÌÊËÐ ÆÆ

ÐÈ ÑÌ �0�È�¨�C?�P�@�

Â��� ÍÐÊÍÍÑÃ

ÊÒÈÊËÈËÓÑÊ <�»�P :�È��SÈ�PÈ�
CS Â
� ����Ã

CÈ�ÂC�6�Ã� 7PÈ�
ÏÐÌÉÌÊËÓÉ�=�BSÈ�
3�=3� ÍÊÈËÊÈÌÊËÓ

ËÒÈËËÈÌÊËÓ� <�L�C�7��=�>�¯��
?�®S�
ÂËÏÍÌÉ��ÎÉÌÊÌÌÉ��
��� ���ËÏÈËÊÈÌÊÌÌÃ

ÑÈ �0�Èp8�LC��
�C:�®oL

Â��� ÍÏÓÎÊÑÃ

ÍËÈÊÏÈËÓÑÑ p$�®oLÇ
<?=>=LÉ�
CSÈ¯�

:�È��SÈ�PÈ�
CSÆ��PÈ0�

CÈ�ÂC�6�Ã� 7PÈ�
ËÒÑÉÌÊÌÍÉ�=�BSÈ�
3�=3� ÌÑÈÊÏÈÌÊÌÍ

ÊÏÈÊÐÈÌÊÌÍ�

ÒÈ �0�È@�7�3� �M�
8�BS$>L

Â��� ÎÎÐÍËÏÃ

ÌÎÈÊÏÈËÓÑÑ D���Ç@¥�LÆ�
�CSÈC�

:�È��SÈ�PÈ�
CS

CÈ�ÂC�6�Ã�7PÈ�
ËÒÑÉÌÊÌÍÉ�=�BSÈ�
3�=3� ÌÑÈÊÏÈÌÊÌÍ

ÊËÈÊÐÈÌÊÌÍ�

ÓÈ �0�ÈD�� =�CS<�L�
@=?�N

ÍÊÈÊÏÈËÓÑÐ <�»�PÇ
<�§�HÉ�È:�È

:�È��SÈ�PÈ�
CS

CÈ�ÂC�6�Ã�7PÈ�
ËÒÑÉÌÊÌÍÉ�=�BSÈ�

ÍÊÈÊÏÈÌÊÌÍ�

�� .(5$/$�*$=(77( 3DUW�,,,
BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB

7KLV�LV�D�GLJLWDOO\�VLJQHG�*D]HWWH�
$XWKHQWLFLW\�PD\�EH�YHULILHG�WKURXJK�KWWSV���FRPSRVH�NHUDOD�JRY�LQ�



Â��� ÑÎËÊËÒÃ C� 3�=3� ÌÑÈÊÏÈÌÊÌÍ

ËÊÈ �0�È�<ISC��
�&�KC�N@CS Â���
ÍÐÊÊÊÎÃ

ËËÈÊÓÈËÓÑÍ p$�®oLÇ
��±��
��oLÉ�È:�È
C�

:�È��SÈ�PÈ�
CS

CÈ�ÂC�6�Ã� 7PÈ�
ÌÏÌÉÌÊÌÍÉ�=�BSÈ�
3�=3� ÊÑÈÊÑÈÌÊÌÍ

ËÏÈÊÑÈÌÊÌÍ�

ËËÈ �0�È<�7�� �$� �CS
Â��� ÍÐÊËÌÓÃ

ÍËÈÊÏÈËÓÑÌ D���Ç�@?LÆ�
�CSÈC�

:�È��SÈ�PÈ�
CS

CÈ�ÂC�6�Ã� 7PÈ�
ÌÏÌÉÌÊÌÍÉ�=�BSÈ�
3�=3� ÊÑÈÊÑÈÌÊÌÍ

ÌÎÈÊÑÈÌÊÌÍ�

ËÌÈ �0�È�>BS<� �� �$
Â��� ÍÐÊÐÓÌÃ

ÊÓÈÊÍÈËÓÑÍ D���Ç
3��É�È:�ÈC�

:�È��SÈ�PÈ�
CSÆ� �PÈ0� Æ�
�
���


CÈ�ÂC�6�Ã� 7PÈ�
ÌÏÌÉÌÊÌÍÉ�=�BSÈ�
3�=3� ÊÑÈÊÑÈÌÊÌÍ

ËÎÈÊÑÈÌÊÌÍ�

ËÍÈ �0�È�+o�3�� �$ Â���
ÍÐÊÏÌÊÃ

ÊÐÈËËÈËÓÑÏ D���Ç7�=M :�È��SÈ�PÈ�
CS

CÈ�ÂC�6�Ã� 7PÈ�
ÌÏÌÉÌÊÌÍÉ�=�BSÈ�
3�=3� ÊÑÈÊÑÈÌÊÌÍ

ÊÌÈÊÒÈÌÊÌÍ�

ËÎÈ �0�È�<�C��@�

Â��� ÍÐÊËÎËÃ

ÊÏÈÊÏÈËÓÐÓ D���Ç
3��É�È:�ÈC�

:�È��SÈ�PÈ�
CS

CÈ�ÂC�6�Ã� 7PÈ�
ÌÏÌÉÌÊÌÍÉ�=�BSÈ�
3�=3� ÊÑÈÊÑÈÌÊÌÍ

ËÍÈÊÑÈÌÊÌÍ�

��WK�0DUFK����� .(5$/$�*$=(77( ��
BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB

7KLV�LV�D�GLJLWDOO\�VLJQHG�*D]HWWH�
$XWKHQWLFLW\�PD\�EH�YHULILHG�WKURXJK�KWWSV���FRPSRVH�NHUDOD�JRY�LQ�

BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB

38%/,6+('�%<�7+(�683(5,17(1'(17�2)�*29(510(17�35(66(6
$7�7+(�*29(510(17�&(175$/�35(66��7+,589$1$17+$385$0������


